HHEF+4X100mR
CHET — 2G5 - ¥ A L1 —XR)
148
3L—> 4L —> 5L— 6L —>
103 H 5 111 SEAE 108 ANEEE] 122 e E R
FHA gk HIAFLER HAREE% HA D ER
32 = B 3 12 /AR Rt 3 91 | RKEFM| 3 16 | Jrhid #hFH 3
28 |fHHE  KF0 3 13 | KM AkEE 3 92 | H &I 3 17 YW A 3
30 [VEw  gE 3 14 Mg F— 3 93 i+ Amf& | 3 18 yH i 3
31 REE 3 15 |34 B4 3 95 [IEfF i 3 19 [BAAR HEA 3
26 ki JkFn 3 11| BA 3 02 BRIl At 3 22 | R 3
32 = B 3
JIE &= [& i [ =l i = |
TL—y
121 B
FH A gk
61 A FERE | 3
62 |ALRH X 3
64 |BE K 3
69 HEA Eb 2
JIE = |
248
4L —> 5L— 6L —> TL—y
115 N4 113 [5& FH 123 N 118 =] FH
A Rk H A Rk H A Rk FIA Rk
27 WGBS 3 62 L CME 3 21 EHIy K 3 30 | B4 A 3
25 |kA s PR 3 63 £ £ KA 3 22 | i fE 3 31 |fkm 3
24 | KBy JEH 3 64 |#77  JE 3 24 | YA it 3 32 |BEA FHh 3
38 IR EYR 3 66 |FAH  BEAT 3 25 |k 2GR 3 43 [F4 B 9
41 Bk BA 3 67 | =B FIE 3 26 |HIH B5F0 3
61 |Frid  #EEis | 3
L it | JIE it | JIE =0 | (B =0 |




JER4x100mR

R
| 20— — _
i TR TRk Ttk
T S N FEEE
L — 6L — S— _
TR T B —
S N A FE




1 - 2FABEF4X100mR

(2T — LG - A L L—2R)

148
3L—> 4L —> 5L— 6L —>
122 FEWEN 118 & FH B 115 N 113 % H
FHA gk HAGE Bk A ok A Rk
32 R KM 2 40 | RKH: 3R 2 31 |BR% H) 2 68 | A1l Fim 2
34 )l RE 2 44 oA &3} 2 35 AR ¥ 2 69 [#E A 2
36 |EH b 2 45 lin B 2 34 {8 IEKH 2 78 [HF K 1
37 B AEAN 2 51 | = =% 1 33 [REM  #iMh 2 73 ik EKR 1
50 [IUA Bk 1 53 | &N MEK 1 32 [MElE  —KHER | 2 76 [HT B 1
44 | RJR #hifr 1 55 ML =3 1 29 [WR)Il 2 77 WHE s 1
JIE &= [& i [ =l i = |
TL—
114 JIEWEA
FH A gk
64 [Ex K K | 2
65 [IE&=H  FFn | 2
66 |HE #H 2
67 | H B 2
68 HiGE 1E4E | 2
72 |5H BE 2
JIE = |
248
3L— 4L —> 5L— 6L —>
103 H % 108 /WAL 123 ANE 111 S AR
A Rk H A Rk H A Rk FIA Rk
33 Bt KIR 2 11 |k B 2 31 [ Ky {Eiha 2 22 |Fm Efd 2
34 My FiHEF | 2 24 | KRE FTox |1 33 | Bh— 2 25 |FAPE  EX 2
41 |8 BN 1 25 |[H BN 1 44 T Fnkg 1 26 |th)Il ABAFT | 2
46 |+ PR 1 26 |0 I 1 46 A S 1 28 |H¥  FEA 2
42 |\FH % 1 50 [ Bk | 1 20 | AW RS 2
44 |[HF 1 53 WA I 1
L it | JIE it | JIE =0 | (B =0 |
TL—>
121 i
FA R SR
78 |HY IR 1
81 |l FHmE 1
68 [HrH & 2
73 |BR b 2B 2
JIE = |




1 - 247 F4X100mR

R
| 20— — _
i TR TRk Ttk
T S N FEEE
L — 6L — S— _
TR T B —
S N A FE




A {4X100mR

LT —

FHF - Z A HL—R)

148
3L—> 4L —> 5L— 6L —>
103 EER 111 ¥4 122 N 115 KK
HARE SR HAGE Bk A ok A Rk
92 | KA LTy 3 12 |5y A& 3 12 |FkKf 3 1 |FER EE 3
94 |HYP BN 3 13 |1368  H3A 3 15 | Bl & 3 13 |5 lF i 3
97 [lhm BE 3 15 [l 3 21 |#&jE EHu 2 15 AT O 3
98 |[LUA iR 3 27T | /o 2 22 | ZdH | 2 24 [N ®h 2
99 |tEH B3R 3 16 |IUA  BHBK 3
JIEi | JIE§ i | JIE§ i JIE |
TL—
118 [ H B
FAGE SR
53 Bl Z=H 3
61 |BEFT MEIETE | 2
63 [IUT  EH 2
64 \NH Hk 2
JIE = |
248
4L —> 5L— 6L —> TL—y
121 4% 113 = [ 123 NG| 114 BRE
A Rk HIA LBk HA DBk HA D #%
10 | By A 3 83 |/NP  FEA 3 27 MW FjxZs | 3 50 |/l EERL 3
13| EH %= 3 84 | A H EE 3 30 ViR I 3 53 |k FRIK 3
15 ‘=% k¢ 3 85 B EK 3 35 |5 B 3 54 |BKIL  Hkrd 3
21 [HEF HEO | 2 86 |HA XA | 3 37 YO A 3 55 | =K Fjd 3
22 |HAT B 1 90 | i /N 2 31 AR &5 3
23 |[1UHE R 1
JIE = | JIE = | JIE = | JIgi = |




Jeifif£4>x100mR

R
| 20— — _
i TR TRk Ttk
T S N FEEE
L — 6L — S— _
TR T B —
S N A FE




1 - 24 £4X100mR

(2T — LG - A L L—2R)

148
3L—> 4L —> 5L— 6L —>
103 H 114 B 108 /NEE 111 AL
HARE SR HAGE Bk HJA RO HJA RO g
03 JIEF #h3E 2 61 |HUHH  FE 2 12 |[#A5c MER 2 20 | HEEIE 2
05 |4k LifF 2 62 |#%  FEBE 2 15 | KB BE 2 32 |l F XFE 1
08 [#AME  FEE 2 82 | EHAR B H 1 22 | EHEH | 1 38 BT 2% 1
41 @ H fEHE 1 83 | Kiim WL 1 23 | W EiE 1 45 [l 5% 1
42 1Y #T 1 84 |[MFy FEFEF | 1 29 ¥ TEA 1
44 m FikE | 1
JIE &= [& i [ =l i = |
TL—
115 KAk
FAGE SR
27 BB Al 2
23 | Kl o8 | 2
20 |y AE 2
26 |5 Ak 2
21 |k Ak 2
36 |[TTN BN 1
JIE = |
248
4L —> 5L— 6L —> TL—y
122 Y 123 ANES 118 [ FH B 113 =
FAGE SR HIA LBk HA DBk HA D #%
23 |50 PIER 2 45 |50 BaEk 2 60 [fEfiE B 2 91 KA EH 2
2 [JEA Y 2 48 [fAJR FET- 2 62 | Fuli  EFR 2 92 [FAA Ml 2
25 |[FaH SR 2 53 [T KZET 1 65 | Kl %5 2 95 |IUA Lg% 1
34 /g B 1 66 | AR 1 66 |BFf KA 2 96 |k HEAE 1
35 |60 EEE 1 42 |FH < BHH | 2 67 |EH T 2 97 |mE EX 1
68 |HE 5 2 98 i1 pEAE 1
JIE 5l JIE | JIE 5l [E =0 |




R
148
1L—y 2L— — _
TR T S -
T S N FEEE
L — 6L — S— _
TR T B —
T S A FE




